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# %]7-1 : Python#2 ;% 7§

1mport numpy as np
A = np.array(| [FEGE

(5, IR [[ ©.28571429 -0.14285714]
5. 2] [-0.71428571 ©.85714286]]

)
A_inv = np. linalg. inv(A)

print(C * 3£*¢=\n", A_inv)
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1mport numpy as np

A = np. array(|
:_]-9 2]9

3, 6] Singular matrix

raise LinAlgError("Singular matrix™)

)
A_inv = np. linalg. inv(A)

print(C * 3£*¢=\n", A_inv)
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# 519-2 : Python%i v

import numpy as np fz FRFEEHY =2 =
A = np. [[ 41. -30.]
r[li) 32‘1]'1'33’([ [-15. 11. ]]
’ ’ |- ] ____'. : -'_.'.' ]
(1, 3] *E|3FF‘41J CER =2

A_inv = np. linalg. inv(A)
A_inv_pow3 = np. linalg. matrix_power(A_inv, 3)
print(C % s8*eh= =x * =\n", A_inv_pow3)
print(C * s2"L&% B ~ % ¢h= =X 3 =\n’, A_inv¥*3)
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